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GESE
MATHEMATICS

Foundation Tier Paper 1 Non-Calculator

Time allowed: 1 hour 30 minutes

Materials

For this paper you must have:
e mathematical instruments =
o the Formulae Sheet (enclosed). 1. C

You must not use a calculator.

Instructions

o Use black ink or black ball-point pen. Draw diagrams in pencil.

e Fill in the boxes at the top of this page.

e Answer all questions.

e You must answer the questions in the spaces provided. Do not write
outside the box around each page or on blank pages.

¢ |If you need extra space for your answer(s), use the lined pages at the end of
this book. Write the question number against your answer(s).

¢ Do all rough work in this book. Cross through any work you do not want to
be marked.

Information

e The marks for questions are shown in brackets.

o The maximum mark for this paper is 80.

e You may ask for more answer paper, graph paper and tracing paper.
These must be tagged securely to this answer book.

Advice
In all calculations, show clearly how you work out your answer.
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2
e == —e — e T 7z . 'f Do not write
| outside the
Answer all questions in the spaces provided. J box
1 (a) Circle the answerto 150 + 5 ;
[1 mark] |
. 3 300 3000 1
| |
| |
1 |
| |
, 1 (b) Circlethe answerto 5-7
‘ [1 mark]
|
| |
1 (c) Circlethe answerto -3 x3
[1 mark]
L -6 6 9 ‘
{
|
|
|
|
l
02 1B/M/Jun22/8300/1F
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3
e P — — e e e 71 Do not write
oulside the
| box
2 P is double r.
' Circle the correct formula.
[1 mark]
P=< P=r+2 P=pr-2 ‘
| 2 |
i
i
| 3 By rounding each number to the nearest 10, estimate the value of 31x18 1
: [3 marks] |
3oxo0=-6oc
1 = » = v o '
t
!
|
|
| & |
’; Answer Oo ,
' i
| |
‘ |
‘ l
|
\
| |
|
| |
} Turn over for the next question
" 7
— e — — e ———— ——— — ———— e ———— e —— e —
Turn over »
03 1B/M/Jun22/8300/1F
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In this isosceles triangle,

[3 marks] |
|

AB=AC
A
Not drawn
accurately
B 4cm C
The perimeter of the triangle is 22cm
Work out the length of AB.
AB+AC + & =20 , AR= AC
s / oAl £

_ DR+ sddl.
2AB=1

 AR-18:2:=9em

LI

R
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5
i Do not write
outside the
5 After school, Priya will o
s go running (R)
¢ do her homework (H)
» play a video game (V).
Complete the list of the 6 possible orders in which she could do them.
[2 marks]
RHV
VAR
‘ Turn over for the next question
5
Turn over »

I
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T T T T T T T T Donot write
| | outside the
' 6 (a)  Which statement is correct? | =

Tick one box.

17+3<29-10

17+3=29-10

17+3>29-10

e s R e i o g
P NTA

|
|

l

l

l

l

1

Show working to support your answer. l
I

{

1

|

l

|

I

6 (b) Workout 60+2+4
[2 marks]

Lo~ =5Re LDOHAS |
6oL+ 3%

Answer 2 k(’

|

f et B
L]

06 1B/M/Jun22/8300/1F
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Cost of 100 grams |

Cereal 49p

S —

Pasta 14p

Leah buys 400 grams of cereal and 250 grams of pasta.

Work out the total cost in £
[4 marks]

Cevreal: oo x 9= 6-x49 |
Lod T &= \0{6_{9

(Pastai 250 1% = L5\
__ligc = 35(‘).

196

35 : —
Bl;lz = 'ﬁi()\'zl
Answer £ 2'3‘_

.—r

Turn over for the next question

LI

Turn over

1B/M/Jun22/8300/1F
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8
Do not write
outside the
8 (a) Fora setof five numbers, i
the mode is 8

the median is 12

Work out one possible set of five numbers.

f% aggeexrs Hoe r\\éd—,\\
o }3“ v Sl o ddle Uen ordered

[2 marks]

| Answer 8 % \ Z \ 3 l u

' 8 (b) Here are the heights, in centimetres, of some children.

98 103 91 85 102 91

Which height is an outlier?

[1 mark] |
|

Answer ‘ :) q cm

0 8 1B/M/Jun22/830011F
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r ey —————

Do not write
outside the
box

9 Shona has 14 dresses. i
|

50% of these dresses are red.
She gives 5 of her red dresses to a charity shop.
She buys 1 new red dress.

What percentage of the dresses she has now are red?

[4 marks]

So@/o O‘E Ve s O’S"\#: 1 reAA/tsjajL

| z‘\—(; MMS (CI (Lf‘assas (,ZoNLM— (- A)
Ay @o\\jg L S (\ca\ M&SQO O\Pt_ik—sfw__ |

Answer (3 £ % :

! Turn over for the next question

S —— = e e ——————————

L

Turn over »
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— , SN

}10 (a) Hereis atriangle.

. 12m

l 40cm

length of shortest side

Work out
length of longest side

Give your answer as a fraction in its simplest form.

Swortest side = bocm

Not drawn
accurately l

[2 marks] }‘

| _longest stde = \20cm.

|

¢)0~C¢—~\

———————— |

ek T T

T i

|
‘ |
‘ Answer / (3

Sy S ]

L
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mmerevise.co.uk

T ——— S———— —_—

| Do not writs
| outside the
110 (b)  Here s a different triangle. o

‘ Not drawn
accurately

r |
[ 11% |
?

“ x=3y %
| Work out the size of angle y. |
. & [3 marks]

| 180 = 1V se'se -

| \ €o = WL« Gq

| (-"egw E;

[ . _

| Gz68-¢=13.

J

i o ST J,}m_,_"

l

|

|

| |

[ |

y l

‘! Turn over for the next question

|

L R e b i
Turn o;;r—b

i |
1B/M/Jun22/8300/1F
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11

11 (a)

Companies A and B sell insurance for mobile phones.
The table shows the monthly costs for two types of cover, Damage and Loss.

Company Damage Loss
A £8.65 £12.20
B £7.25 £14.10

Work out the difference in monthly cost for the two types of cover with Company A.

'22'0

[2 marks]

S5

AR5

Answer £ 3 ¢ 55

R

1B/M/Jun22/8300/1F
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13

not write
outsida the
11 (b)  Ben wants Damage cover with Company B. i

— o
How much in total will he pay for one year? f
|

l
|
\
3 [3 marks]
t 1S\ L=F 05 2lox +25%7)
| x 7}9-)2 St 1G-S
i

% 187 j

;

Answer £ M“g _:)l

4
l
|
i
|
i
l
11
l

12 Work out

s (,o|_s
(O

[2 marks] J1

v if 446 o5

L

m
.
3

¥
o~

R &

Turn over p

I
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13 (a)

13 (b)

The term-to-term rule for a sequence is

‘ multiply by 2

The 3rd term of the sequence is 46

Work out the 1st term.
Give your answer as a decimal.

3((3\ {:UMiL(—

[3 marks] |

6 ) aq
204 ke 237 o
1o LerniilloS

-

Answer \ \ i b

The term-to-term rule for a different sequence is

L subtract k

The 1stterm is 34
The 4th term is 10

Work out the value of k.

Ad Larn S Ale—laz Qe

[3 marks]

240 DY -k e

Jrd: - = &

en . 3% kel

8

AT

|1B/M/Jun22/8300/1F
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S DS - —_— ot = "] Do not write
outside the
box

14 VA

X

w
1
(‘-f

A 4

Work out the vector that translates shape A to shape B.

t [2 marks]

‘

i A =

‘ nswer | _ 1

|

i

|

l

|

I

4

! Turn over for the next question

|

\ 8
Turn over b

“"‘I‘l N"LIW ,II 18/M/Jun22/8300/1F
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Do not write
outside the
15 In a bag there are only red discs, blue discs and green discs. -
There are 10 red discs.
When one disc is picked at random
I P(red) = 1
8
l
' 2
1 P(blue) = =
(blue) 5
i How many green discs are in the bag?
| xla [4 marks]

| PRI & il \

| TSes 8 L8
| O fotel discs  **° 24
| ‘P(B\oe): a A Boddoies ws 1237 -
B . = e (=, S (0 S )

10+3%« GreenLisce= Bo.
G‘Pe.c«m AfSc.S‘. XO -10-82 - 2% >

Answer 38 SM@V\A‘SCS

L
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17
e _— — . LoDt
outside the
box
Here is the graph of y=7-3x
- T ATMW
4.._—-!--‘ ——-—&—-—— —— Il SUEIES S8 L‘.—.—.1
I
i 1 1 / l
=S aBEn t aaas
TN [T Bysks |
| I Eeenasdef
- 5 _.__+ T' /- -_7”.?., I".T
ie l 1 358
itk 4_ e B3 | i i
! , | ;
Bl N R ! EERad aAnd NN IM< !
| | !
| 2 L—- t g : - |
=+ l
3 X
paani ‘
Draw the graphof y=2x+1 onthe grid e
Ty \ 3 =y n\:efc e_fJ
and then e "
work out an approximate solutionto 7 —3x=2x + 1 1= 6‘" C°~ Tl i
|
|
|
|
!
|
"
Answer <\ °Q~ ) 33)/ DC.: "'2 ,
7
N e Turn over b

l l“lll ”ln |||‘ m‘ 1B/M/Jun22/8300/1F
11



mmerevise.co.uk

18

i 17 Part of this circle is shaded.
|
i
!
|
[
[
|
[
|
}
| Circle the name of the shaded part.
! arc sector chord
i
!
|
l

18 Work out 80000000 + 200

Give your answer in standard form.

R0 687 = Lo oaoo

Do not write
oulside the
box

[1 mark]

LIS o
=l oy

5
Answer ('[" X\ O

.

L
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19
12 a
19 (a)  Work out 3
Give your answer as a whole number.
'L 1 1=1 < [2 marks]
K S T
& T
':3 %3 >'3 = qxc\\(;
= xS
=243
Answer :)--L? 3
|
19 (b)  Simplify 8x25x2*
Give your answer as a power of 2 r——
% ¢ \(’- 2 e ( [2ma s
B omisd w2 s Do) w2
23#é+“1‘— 1:3,

\3

Answer Z

kA

L

Turn over »
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' 20 In a group of 98 students
25 study both Art and French
10 study Art but do not study French
41 study French.

Joel draws this Venn diagram to represent the information.

§ = the group of 98 students
A = the students who study Art

F = the students who study French

48

Make two criticisms of his diagram.

[2 marks]

| Criticism 1 m C:nr C\.LS aye V\o“" LA\oe\\e_C_L,__ _'

|

Criticism 2 __‘ o "25"\€ + ((‘g:f:lc‘__, r\_O!'Ajﬁ,__Sq e

Lf'g S Qu\d\ EQ_ (('};

L]

e e

1B/M/Jun22/8300/1F
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= 7 ae Ee——— - e = _— A ~| Do not write
outside the
b
21 Circle the letter of the possible sketch graph of  y=x>—4 |- =
“ [1 mark] ‘
(D - |
|
)'1‘ VA '
; gl % NGl A *
\
l
|
l
| C D
] VA YA
‘ i
| |
| B ] g |
(0] X 0 X
i
|
f
i
| )
|
9 1
; Turn over for the next question '
|
| |
| |
| | 3
| R 1= N - I B ORI ML |
Turn over »
i
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"~ | Do not write
outside the
22 In a week, Samir is paid

a basic hourly rate for the first 30 hours worked

} an overtime hourly rate for any extra hours worked.
The graph shows his pay for working up to 40 hours in a week.

A

7005 ‘ o 24
esof - p b /
600 +———1— _ Y pmuns pu _

sso_‘:’j, : :/.f*f

5001~ M HT | B ga By o
450+

400 e Aal L1 L] | Ky, |
Pay (£) ' i di
350 H T 558 BuY on wwmw 1

3001

2004— ’ / '

150 ot

100 2aR%1SEEL.nd s F
S0P _ \ .

0 5 10 15 20 25 30 35 40
Hours worked

2 2
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- o a ey = - Do not write
“ outsblgzlho
Work out the ratio  basic hourly rate : overtime hourly rate ;
Give your answer in its simplest form.
[3 marks]
Bes'c 90{\) 415 br dobars.
Ootipne o pan= 4 Jeo-t50- ;4_(100 L_io.bu A)
5585 S5 N (e BE ERER b
Answer _3 5 g_
23 (a) In each box, write a fraction less than 1 to make a correct calculation.
' [1 mark]
—g._— X _— — ———
23 (b) In each box, write a decimal less than 1 to make a correct calculation.
[1 mark]
sy
Ol | ] 0-&| - 006
5
Turn over »

L
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| outside the
box

24 Use a ruler and compasses in this question. ,

‘. ABCD represents a garden. ’

A tree is to be planted in the garden.
| The tree will be in the region that is closer to AB than to BC.

Label the region, R, where the tree could be planted.

Show all your construction lines.
[3 marks]

e e —————————

L

1B/M/Jun22/8300/1F
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{ 25 Here are two shapes, P and Q. '
l
P Q ‘
% of a circle, radius 20cm % of a circle, radius 15cm \
Not drawn l
accurately ‘

How many times bigger is the area of P than the area of Q?
You must show your working.

|
|
|
l
l
|
l
l
|

< 2 3 [atmarks]l
] VP: Aeo= T 2 TWxDa Exhodlt SeoT em? |
i ﬁ)‘.Anw:—le’Wx \S’L:/'»,XZ'LS’TF: _‘}ST\’CM"T!

l
L Do - 30—/,
v ‘_7[5/7( - :}5 - 1

Answer _(_(/_‘ ) _Bf‘géé._-__,

LI

Turn over »

I1B/M/Jun22/8300/1F
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e e T (e : et e
4 omﬁmo
w
Solve —=—
- 5§ &
S [2 marks]
Y‘s N,
2wz 4x\5:5 )
9\\:*,)_: \%:E?“?; = PR it
= P - & ? i
W2 26 B ’
= '
|
‘27 A solid has volume 300 cm?® and density 2 g/cm?® !
1 J
Circle the mass of the solid. .
[1 mark]
|
150g 298¢ 302g 600g
1
|
!28 xzy s 98
‘ Circle the value of =
% 4
Z [1 mark] |
’ 5 9 10 |
‘ 18 10 9 '
1
i
|
J END OF QUESTIONS
i —_—
i 4

L

1B/M/Jun22/8300/1F
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